Coomplex Numbers - Polar in Form December 10, 2012
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4. Simplify each of the following, giving your answer in the form r(cos 8 + i sin 6).

Q) (1 + i3y (i) —=2

—

_\;'?4_1'
DwIDE (—_Q_Q_‘E}:D, = 2B+d - 2l3420 o G4
(-s3H)-Ts-) B ELE r £
odAng 1 (= S";’ D
' ARG R

aﬂvw, bt ‘b

. = | (COS I8 + 1Sin33)

What is the argument of

this complex number?
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21 = o’l(cos f0” + ig(ﬁv")

1If 7, = ry(cos 6, + isin 6))

and Z> = ry(cos 6, + isin 6,),
multiply then z,.z, = r.rfcos(6, + 6,) + isin(6, + 6,)]
and and ;—; = ;—i[c os(6, — 6,) + isin(6; — 6,)].
divide
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{ Example 1 )

-rofco (9+9z)+ in(6; + 6,)]
(6 — 6) + isin(6, — 6,)].

= a - Sm SJ)
If z, = 2(cos 1 + isin 4) and z, S(cos o + isin B find

(i) ziz2 (i1) Z—Z in the form a + ib.
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